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EiR.EVERA t 10.46 942 1132 | 10.18 | 1223 | 1095 | 11.01 7.76 552 | 10.00 9.11 8.80 116.76
'J:j%fﬂyilﬁ t 236.09 | 148.83 | 178.91 | 192.47 | 142.95 | 183.89 | 148.34 | 190.21 | 155.54 | 164.26 | 125.21 | 164.29 2,030.99
By 85t t 286.48 | 197.77 | 223.34 | 235.24 | 185.56 | 222.89 | 192.62 | 462.68 | 191.95 | 189.12 | 159.08 | 221.89 2,768.62
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COD 90mg/0| 10mg/0| 6.8 | 6.2 | 75 | 15 | 7.8 | 6.0 | 59 | 27 | 21 12 [ 85 | 79
SS 60mg/0] 10mg/0| <1 | <1 | <1 1 2 1 5 1 4| <1 3 1
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SRUZTDIEEM]|0.1mg/2|0.1mg/2] - - - [0.01] - - - - - - - -
R s |ocosme/efocosmea] - [ - | - Joowws| - [ - | - [ - | - | -|-| -
nnnxvommmaan | 5mg/Q | bmg/2 | - - - | <05 - - - - - - - -
s mmnaens | 30mg/Q| 30mg/2] - - - <05 - - - - - - - -
Jx/—I)LEE | 5mg/e | Smg/2| - - - [<05| - - - - - - - -
tesa= 3mg/Q2 | 3mg/2 | - - - [<03] - - - - - - - -
HwIESAEE | 2me]|2mge] - [ -] - <02 -] -] - -1-[-1-1 -
AR Omg/Ql1Omg/e] - | - | -Jo03[ - | -] -1 -1-1-1-1-+-
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gt ew ] mg/eImge] - | - | - [<01] - -[-[-1-|-[-1-
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Wk URRUZDIEEM]0.1mg/2)0.1mg/Q] - - - [<0.01| - - - - - - - -
TILXILIKER |susnsocemusnunnze] — - - |Fwrl - — — — — — — —
RUIRIEET =)L ]0.003mg/2)0.003mg/0|  — - — [<00005 - - - - - - - -
r)oaRIFL]0.1meg/2]0.1mg/2] - - - |0.01f - - - - - - - -
7700 FL2]0.1mg/2]0.1mg/2] - - - |K0.01| - - - - - - - -
ooaaiay 10.2mg/2l0.2mg/el - - - |£0.02[ - - - - - - - -
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1,1, 1-tyyaazsy | 3mg/2 | 3mg/2 | - - - |€0.02| - - - - - - - -
1,1, 2-byyRnxT5210.06mg/2]0.06mg/2] - - — |<0.006( - - - - - - - -
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£ 0.01mg/2] 0.01mg/2]| - - - [<o002] - - = - - - - -
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9’17;:111:1;(%’/ 0.02mg/2] 0.02mg/2]| - - - [<0.002] - - - - - - - _
N RAES 0.002mg/?|0002me/?| - | - | - |<oo02] - | - | - | - | - | - | - | -
%&&Z{%{F,iﬁ?iﬁ MA 2-55e015210.004me/2]0.004me /0] = - — [<oo0004| - - - - - - - -
1, 1-y00xFLr | 0.1mg/Q | 0.1mg/Q - - - [<o0002] - - - - - - = -
1, 2-2yn0xFLr | 0.04mg/2] 0.04mg/2] - - - [<0.004] - - - - - - - =
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